
Whilst every effort has been made to ensure the accuracy of the information supplied. F.H.Brundle cannot be held responsible for any errors or omissions. 
This product must only be employed for its original intended use. Any other use is wrong and potentially dangerous. Installation must be carried out in full 
compliance with current regulations. F.H.Brundle cannot be held liable for any damages resulting from wrongful, erroneous or negligent use.

COMPLETE RUNS OF BOW TOPS & RAILING KITS

INDIVIDUAL COMPONENTS & KITS

Southampton Rainham Ilkeston Birmingham Haydock Edinburgh Glasgow

Tel: 023 8070 3333 
Fax: 023 8070 5555

Tel: 01708 25 35 45 
Fax: 01708 25 35 50

Tel: 0115 930 2070 
Fax: 0115 951 2455

Tel: 0121 565 8282
Fax: 0121 565 8292

Tel: 01942 86 88 88 
Fax: 01942 86 88 99

Tel: 0131 335 5999 
Fax: 0131 335 5911

Tel: 0141 332 3231 
Fax: 0141 332 7325

sales@brundle.com 
www.fhbrundle.co.uk

Sep 2015

BRUNDLE F.H.BRUNDLE
SERVING THE TRADE SINCE 1889

COMPLETE RUNS - ALL FITTINGS INCLUDED - GALVANISED - 900mm HIGH - CODE: 360209

2.76 METRE PANELS COMPLETE WITH POSTS AND FITTINGS

PRE-PACK FITTINGS KIT CONTAINING:
2 x SUPPORT FEET
4 x CLEATS
6 x SNAP OFF CONE NUTS
2 x M12 X 80mm BOLTS (FIX CLEATS)
6 x M12 X 36mm BOLTS (FIX PANEL TO CLEATS)

GALVANISED PANEL

GALVANISED POST

M12 x 75mm BOLT & 
SNAP OFF CONE NUT

M12 x 36mm BOLT & 
SNAP OFF CONE NUT

SUPPORT FEET

ANGLE CLEAT

Description Code
Fittings kit 360209

Size mm Code
2760 x 900 3602C091

Size mm Code
50 x 50 x 1500 3604C09

Description Code
Sold individually 3603C4

Description Code
Sold individually 3603C5L

Code
3603C3

Code
3603C1

1

2

3

7

6

1

4
4

4
4

4

4 4

4

5

5

5

5

2

2

6

6

6

6

6

7

7

7

7

7

7

7

3

5

6

3

4

OTHER HEIGHTS AVAILABLE 
PLEASE ENQUIRE.


